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Vocahulany

concrele apparabius ANNaY
gops of | lotsch  timestoble
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Concrete, Apparatus

Complf)teth@ sentences to describe the eggsi

There are lobs/o;fl_ o - ~ o
There are eight - OO OO
3 % = A, { D L
At}ipst,ﬂmwer\e eggs:.

Thm,th@é/wer\eshwedjmio boxes.

Novw,thex\ear\e eggxszu»eodvbow




Fact Families

Remembenr that there are & WWMWMW

o %6 =30

® & o & 0o o

6 x5 =30 ® 00 o 0 o

® & & & 0o »
30+6=5 ® o o o
30+ 5=6 ® o0 o
® & ¢ o

Where s the BIG number irv eachy number sentence?
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Fact Families

X X

plawlmea&vr\whbﬂ\

Check that the BIG number s irv the correct



Pictorial, Representation c o o

mewmegmup&amﬂm? c o o
megmwmgroup? **°
Howmanxé/oﬁ@ﬂwmaﬁpgfﬂw?

Noww, wmi@(ﬁoundkﬁex\er\tnunmsexmﬁonﬂuﬂw7



Patterns v [imes | ables

Loohw%a%%bﬁgmm%@ojlﬂﬂ@3wtabi@andfﬂ1@6 % table. Can/gouj

| % 3 =3 | 6 =6
2x3=06 2x6=12
3x3=9 3x6=18
b o, 3 =12
Ox 3 =15
6x3 =138




Fluency |

l. Fm\-e.ﬂdbm% writes 4 WWMWMMM
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Jrom the same Joch family,

Pl12x%6-

2 =6- 2

S0

12

a) 2 wb -

g) | %6 -

b) 6 % 6 -

h) 9 %6 -

e) Il %6 -

)30 -

d) 7 %6 -

j) 8 w6 -

e) 10 %6 -
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@) 24 = 6 - e d) 56 + 6 - e
) 6 x e - 48 &) e w6 - 42
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ﬁl}.m% somelimes or neasent?
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Problem. Solwing |
I arn thinking of 2 numbers.
The: sumy of the: numbers is |5,

Thﬂg@or/ﬂwmmhemmfm.

"la"'la"l"u:ﬂ:.-n:t|~-|=_'.rr'rnulat.-."r_:r numbers?
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Plenary

Practise your 65 table and, 6% table dimisions onv ‘Hib the Buttory
hﬂp&:/ / wwwtopmw\k&wuk/ nmaths- g,om@s/ hit-the~button



https://www.topmarks.co.uk/maths-games/hit-the-button

Answers Huency|

|. For each array, write 4 number sentences from the same fact Jamily.
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8%6-48

Il %6 = 66

6%8-48

66

6 % |l

48 +6-8

66 =6 =1l

48 =8-6

6

66 = |l



2. Ccm.plete-each mulb'pllcﬂﬂﬂmnurnher- sentence, then write one q&ﬂxe, disvisiory number sentences
Jromthe, same. Jact Jamily

a)2xwb=12s0l2+6=-2 Dl12wb=72s072+6=12

b)6 % 6=36s036+-6-6 g) | %b-6s06=06-]

o) 1l %6 =66s066=6-=ll h) %6 =54 5054 +6=9

d) 7%b=-42s042 +6-17 )y3%b=18s018<6-3

)I0x6-605060:6=10 })8xb-48s048:6=8

3. WFudumLsan.grnumhemrhﬂu&bmmmdahgathﬂsplat&?
m}2¢+5=¢ d_}S&-E;:Q
b) 6= 8 - 48 e) [ xb=42

)48 +6-8 [ 66+6=
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Reasoning

Al

The numbers irv the. 6% table are all of the. exserv numbers inv the 3w table.

This happens because 6 is double 3 so exerty 2™ answer in the. 3% table is in the, 6% table.

irhﬂ'm3m1nﬂe,}.

The numbers are 9 and. 6.

600 = |00 = 6

60 = 600 = |0



